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This paper is of two hundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.
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SECTION -1
wug —1

Note : Answer the five questions from the para given below. Each answer
should not exceed 30 words. Each question carries five marks.

(5x5=25 marks)
e : = 53 T3 T o SR W e T i Tl o S e | Tl W (30)
IS T BT =M16Y | Woeh U9 Ui Sfeh] i T |

(5x5=25 3{h)

Answer the following questions from the para given below. Each answer

should not exceed 30 words. Each question carries 5 marks.

“Positive economics is in principle independent of any particular ethical
position or normative judgements. As keynes says, it deals with ‘what is’, not
with “what ought to be’. Its task is to provide a system of generalizations that can
be used to make correct predictions about the consequences of any change in
circumstances. Its performance is to be judged by the precision, scope, and
conformity with experience of the predictions it yields. In short, positive economics
is, or can be, an ‘objective’ science, in precisely the same sense as any of the physical
sciences. Of course, the fact that economics deals with the interrelations of human
beings, and that the investigator is himself part of the subject matter being
investigated in a more intimate sense than in the physical sciences, raises special
difficulties in achieving objectivity at the same time that it provides the social
scientist with a class of data not available to the physical scientist. But neither
the one nor the other is, in my view, a fundamental distinction between the two

groups of sciences.
o fo& 7w ufiede & 3 W fed 7w uier uvel ot SWR fafau) uelen SR
e (30) TSN ek hT BT SMMBU | Ueleh U9 Ui (5) 3kl oAt §1

“oemefardl stefvme faguiqa: feedt fafie Afae feufa =1 mafee forl
anfad el § 1 S/ for v 3 el €, SHH Haiw e 9 ¥, T g e | el | g9
T IR i FihaT SUTsdl AT § et 39 uiferfadl o €9 ot fedt
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qferda o Adisil & IR § ufasrere & fau foan S gear §1 39 wEfTse o o) |
Frofa afgeya, faear &= qen 36k g U T 7T wfas Femi 9§ T 3Tval o SR
TR e s =R | He H, foeiegpa set atd e g off ifees foae ws femm R,
FLATE ST Teh a8 foq € o1 & Hohdll § | Sqd: 39 024 & SR fof Sfefomet
1 Gy AT ok S 9 § T TH 9 ok R ok difqew fogel & g #
Tenefarst StefeTe § Siaehdl T Sitad fawa-a%g &1 sifue fai fewmn o= 5w g
qrifsies faami-fod fafie o % siihe Suesy B §-asgfea & @ifde a2 o &

=g Hifqe fomfal - U@ st SueTsy 7Tl Td, <l I&q(5d1 WH e | shia-mgar
e Bt § 1 IRy, W faem ) 3 S 9l H @ i off fagm % 39 < adl | Hifees
3R T A el 7 |

1.  Give any economic proposition that fits in positive economics.

Jenefare] TSI & Sfdid U hIE Ueh ATl &ma < |
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2. How can the performance of positive economics be evaluated ?

FenefaTs} S1efRIEA it SUATSH 1 Yol Y foha ST Hehell § ?

3.  Discuss the subject matter of normative economics.

STCRIeTG 37efeme o foro-—arq ol forer=m &{ |
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4.  Make the distinction between positive and normative economics.

arresiare) stefame qu genederer s1efee % &= ¥ o |

5.  Why are welfare economists finding it difficult to achieve objectivity in their propositions ?

39 WISl | ST U6 A § Ueh FHeAehRT ST 1 il hicE el € 2
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SECTION - II
Qug —1I1

Note : This part has fifteen (15) definitional questions of (5) marks, each to
be answered in upto (30) words.
(5x15=75 marks)

e : 36 @< ¥ Ugg (15) IRy Heieh 9 €1 9k 99 o 9 (5) 3k B

A% YT 1 IW d19 (30) Ieal W |
(5x15=75 3i%h)
6.  Explain the consistency criterion used by Paul Samuelson and J.R. Hicks in their theories
of demand.

Tiet SYUEEH a1 1. 3TR. feara & A o fagidl § T Wad HHeUe st SR i
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7.  State the assumptions underlying parato criterion of welfare economics.

HEATITRRT I & e fagia g ffEs A o1 oo #i |

8.  What is ‘Paradox of Thrift" in Keynesian Economics ?

HTgae srefeme # ¢ fyaeafaar w1 fodiamara’ =0 g2
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9.  Distinguish between short-run and long-run consumption function.

TY-hIfcAeh qAT SreehTcleh ST Hed H 3Tl ¥ & |

10. What is ‘golden age’ in Joan Robinson’s model of capital accumulation ?

St Tfeies & qoit Hoe Hied | s g’ 9 § 2
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11. What does Schumpeter mean by ‘innovation” ?

FAgE & IS R A AT § 2

12.  What is meant by incidence of taxation ?

YT 1 71 37 § 2
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13. What does zero-based budgeting indicate ?
T[T STIRA ST S < & ?

14. Explain Repo rate and reverse-Repo rate.

YR qen fod Taie it =are i |

J—0109 11 P.T.O.



15. State the assumptions of Recardian theory of international trade.

SITEE MR & RrEl o fagHia st Araaist &l Seord & |

16. Identify the factors that determine the location of an industrial unit.

T IR s ot stafeerfa 1 fruffa e amel wRent &1 fafead L
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17. Distinguish between absolute and relative poverty.

i s e T 6 S S T

18. Define crude fertility rate.
Tohel YT ST skl gt oY |
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19. Indicate the main components of Green Revolution in India.

9Rd H BRa ifd & @ "oewl &1 fafeTd |

20. What is meant by purposive sampling ?
SeRvayut faee 1 1y ¥
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Note :

SECTION - III
Qug —II1

This part has five short-essay type questions of (12) marks each to be
answered in upto (200) words. The candidate may select one elective
and answer all five (5) questions.
(12x5=60 marks)

MG U (5) T arereTE U ¥ 1 I9E U *1 (12) 316 T 1 TAH
T T ST T G (200) Teai § | adeneft fonddt we fomrew @
T L 3Gk qrE G BT IS |
(12x5=60 37h)

Elective - 1

faehea —1

21. A researcher has a set of paired observations on two variables (Y;X;) and the following
simple regression equation.

It is proposed to estimate b, and by by the least square method.

Describe the method of finding the estimated values for by and b;.
What is the rationale of the method ?

Would the estimated by and b; by least square method be the same as under
Maximum Likelihood method ?

T et o 9 S S (Y, X,) T el s T S ad1 FrEfaied §e sdemeE
‘Tﬁ?ﬁ%\:

= ol faft & b, 91 b, 1 e FEferd 2 -

J—0109

b, T by & STTATT A Fia-TeIfer =1 = =l

39 fafy o1 aehETTd SR 1 € ?

1 =g o fafy gy STgAIfa by T b, o & 2 St fo stfereras e fafy %
i B |
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22. (a)
(b)

J—0109

Distinguish between slope dummy and intercept dummy.
Consider the following OLS regression results.
S=12,000 —3000x; +8000x, + E, R? =0.75

(4000)  (1000)  (2000) n=25

Where S= Annual salary of an economist with MA as higher degree measured in
rupees.

x; =1 if M.phil is highest degree, 0 otherwise.
xo=1if Ph.D is the highest degree, 0 otherwise.
x5 =1 if M.A is the highest degree, 0 otherwise.
and the standard errors are in parenthesis.

(i)  Why x5 is not included in the equation ?

(i) What is the estimated annual salary of an economist with MA as the highest
degree ?

(iii) Whatis the estimated annual salary of an economist with Ph.D as the highest
degree ?

(iv) From the standard errors, as given in the parentheses, find the appropriate
test statistic for each of the coefficients.

AT HT qe S eHl & offe STt TE |

frefafaa sit war wo ydtwm o) w fa=amr s

S=12,000 —3000x, +8000x, + f;, R* =0.75

(4000)  (1000)  (2000) n=25

STeT S == feift o1 o T o7 T T TA.U, A 1 aiftis Ja
x, =1 9f¢ TA.fFa S=ram feilt §, a=em 0

x, =11 H-Ta. . I=aw feilt &, st=aem 0

xy =173 TA.T, 3=aw feilt &, ar=aem 0

3R A Afedt are | €,

1 gl h S

i) uREH ¥ x, I i Afmfaa & fwm e

ii) WH AU, el SR Swam feift ® srqmifa anfife oaw R § 2

iii) MU & T4 H 3= Tt U AT I STTAA Sftich da 1§ 2

iv) AR ¥ fed T A Afedi | YA onichi o fan Sugew wfedfes S 6 |

(
(
(
(
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23.

24.

25.

21.

22.

Estimation of the Parameters of Demand Function from a given data set on price and
quantity give rise to a problem of wrong identification. Why is this so ? Discuss how
the problem can be taken care of ?

Shid 9 1T R fordt feu U €21 92 9 °iT Hed & Well &l STehaH TTord FIAed sl ST
TAT T A ®? 3H U O K e S Heha ®, == Y|

Define ARMA (1,1) and show its properties.

ARMA follows a random walk process and ARIMA introduces a drift in the same
process. Do you agree with the view ? Explain briefly.

TARTAT, (1,1) I TR T G ST 78 9T | TLARTAT, Th Arefosh wen (Yo
1) UfshAT T STTEROT AT & a1 TR, TH.U, 3H Uicha § TIER0Y/foued ara 81 &
3119 39 foaR € 9g9a € 7 Ham § = &)

(a) Define Durbin-Watson statistic ‘d’
(b) Show that

d =2, if there is no first order auto-correlation.

(c) If one of the explanatory variables is the lagged value of the dependent variable
which statistic is to replace ‘d” ? Define it.

(a) Efda-areEm Rfefes ‘d’ &t 9l )

(b) T fw
d=2, afg FTE 99 HH 1 W-G5-FE=d & ¢ |

(c) AfE TIq =R 1 e I = &< ol = o ¥ Th &
@ e 1 wfefes ‘a7 1 fazenfaa s

OR / 31an

Elective - I1
fasrea—11

How does a multi-product firm achieve equilibrium in the factor market where factor
prices are given ?

T Ig-3ACHh FH | ATSTR-ST&T TIEF R < T8 et &-H HIIee Shl WT6 idl © 2

Explain the equilibrium of a group of firms under monopolistic competition with regard
to price and product.

SHIAA AT 3G o IRUET H THITHRRI Ffqeqdl & i wHl & Teoh THE hi AT 6t
AT HITST |
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23.

24.

25.

21.

22.

23.

24.

25.

How is equalibrium in a two-person zero-sum game achieved ?

fg-=af =1 =1 719 & Greeen 9 Y ST § 2

Distinguish between trade cycle theory of samuelson and that of Hicks.

Yque qo fea % =R =k fageid & s Siat oamd |

Using IS-LM framework, explain the determination of equilibrium output is an economy
characterized by flexible prices.

3T TH-UA TH €™ &1 3TN Hd gU, a=iel sivdl g1 sTfueferd steferasen § 3aame-
HreTeen < U o6t sare i)

OR / 319

Elective - III
o —II1

What were the various agreements made by the members of WTO in 1995 ? Discuss
the impact of WTO on foreign trade of India.

Tog] & 311 ok o=l g1 1995 H TR fafye s1gei o~ 97 wRd & faqw =R W g 4 &l
% GHTE i == A |

Explain the determination of rate of exchange under the flexible exchange rate system.
State the limitations of its operation particularly in the context of developing countries.

et fafTaa <X yomelt o faria fafTaa ot <X & i =) =ren | fawaeia e &
foore T o 39 gR=me ol Seord i |

Explain the reasons for the collapse of the Bretton woods system in 1971. What are the
major features of the present international monetary system.

T 1971 H 927 I YUTel o fawel 89 % SR Sl AT h | TAHM FATEE Hifgew
Ut < THE A&l i ==l i |

What is ‘hedging’ ? Why is it being resorted to ? State its limitations.

BT R ? TU A AU ST @I R ? SHh! WSl il el |

What is a Euro currency market ? State the reasons for its growth after second world
war.

R g1 AR 1 7 2 Tt fave g5 % Swid gHent gfig 1 Seorg |

OR / el
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21.

22.

23.

24.

25.

21.

22.

Elective - IV
famea—1v

Discuss the main trends in production of food crops in India in the post-liberalization
period. Do these trends augur well for the long-term sustainable development of Indian
agriculture ?

ST F A R H WE-FEE! 6T ® TE g b @ w0 Fn A gt
TR HT0 & el uRoia o & fou g6t Head <t € 2

What is the economic rationable behind minimum support price policy ? How for is it
effective for stabilising agricultural prices in India ?

AT FHA Hq Aifd F WD T TR R T ? R H Ffu-shiwal & feediao | 7
FY gumE B2

Do you agree with the view that institutional reforms in Indian agriculture have not
complemented the influence of technological changes. What has been the impact of
this divergence ?

1 379 39 91d 9§ HEAd ¢ (o TRATT Hi | Fieenfier uRi 7 WeAiifera aiad=i o quTa
sTgRa &l T 71

Discuss the role of NABARD in agricultural development in India.

Rd H FfY o fosh@ § ‘e’ (NABARD) i fHehl sl ==l i |

Account for rural-urban labour migration in India. Discuss its implications on rural
development.

IR H UTHO-TT 99 JoIS- oh IO ohl oo i | TTHI0T faermd ) s@es fAfeare =t ==t
Exdl

OR / 319

Elective - V
fasmea—v

Outline role of economic planning in the perspective of economic policies of privatisation,
liberalisation and globalisation.

Frsfertor, SeTteRtor e owetetor o Hey # enfefer frire =t yftem wam &Y |

What are special economic zones (SEZ) in India ? Why have these become controvertial
in recent times.

9Ra H favr enfefer &3 (SEZ) N 81 aadm H 3 foarereas = &1 73 ¥ 2
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23. What are the objectives of Fiscal Responsibility and Budget Management Act, 2003 ?
To what extent its implementation is expected to help in fiscal stabilization ?

TSI M AT oIS aieA AR 2003 1 AN HIH 6 7 39 &1 39 aAfufrem
o 2g I TR Relientor § TRt &bt 379m § 2

24. Point out the main steps taken by the Government is recent years to reform power
sector in India.

IRA | Fell-& § GUR & folt TR R 33T T el ol Seotd e |

25. Suggest suitable measures to check environmental degradation.

ATEROT & ST T Ak o foIU 5o gara < |
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SECTION - IV

Qus—-1V
Note : This part has one question of (40) marks to be answered in upto 1000
words.
(40x1=40 marks)
e : TH ©S T TH U Aeid (40) SR H 7| FEHE I AT TH T8N
(1000) wrssi # S|

(40x1=40 37h)

26. Write an essay on the problem of auto-correlation in the time series data. The essay
should cover the following areas of the issues.

(a) Problem with OLS estimates in the presence of auto-correlation.
(b) Statistical test for detecting the presence of autocorrelation in the data set.

(c) Procedure of removing auto-correlation such as Hildreth-lu procedure.
T W Hheh | od: we-Hey i e R Moy fod | fey o a7 e
Teqel ! Gfmferd o =

(a) ¥ g-HaY i Iqfefd ¥ .U, TH. SThard i qHe
(b) THE TR H Wa: g-HaY hi YR ! T4 & & fw At g
() Teoery-q fafy S w@m: T5-Hag &l g™ o fafe

OR / 3terar

What are the main features of classical theories of aligopoly ? Why do these theories
give such-optimal solution to the problem of pricing under oligopoly.

STeUTeRI o Imee fagTdi & yqE fosioand o1 § 2 STemfeeR & 3T shivd-fsicor i
T | 3 fagia = eH-33aq (He-3uferel ) gHTe <d § ?

OR / 3AaT

Outline the measures taken by the Government since 1991 for reducing fiscal deficit in
India. To what extent has the government been successful in its efforts.

YR H 1991 T TERHT H1S hl hH HiH o (o0 THR g 33 T UM ol Seaid il | 31
JaEl § TR fhY 82 9% 9% ©l & ?

OR / 3AaT
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Outline the effects of globalization measures taken in India on :

(a) growth of the economy (b) distribution of income to various sections of society (c)

growth of employment opportunities and (d) integration of financial markets in the
country and the integration of domestic financial markets with global markets. The
answer should be specific with necessary supporting information.

qRA § AR T Toaveieror IUMEl &1 3R TS+arel G4l i sTerfEd &l

(a) STefereen o1 TR (b) THTS < fafye ol o St 3T o1 faaRon () USHIR o ST 1
forermd (d) < H fofta SSIRT i1 TenteRtor qenn foea o ool o 91y =] o arem
TR |

OR / 3reran

Distinguish between customs union and free trade areas. State the trends in the
formation of customs union at the global level. Discuss the relative merits and demerits
of the formation of customs union in the Asian countries like that of European union at
present.

HEZH I qT o ATIR &0 o o< 3= oare | fove T R F&eH g & 737
e o1 3@ i | A H UG o S TG TR o <@ § HEH g9 & T4 6
Hrafater T[OT-Srei skl == Y |
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